Let's review: analyzing graphs and key ideas.

When you finish the activities, send me the answer.
You have my email direction.

1. Look at the chart and answer true or false.
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Evolution of the birth rate in Spain

The birth rate is decreasing year after year.

There were more births in 1920 than in 1941.

There were less births in 1991 than in 2011.

The birth rate in 1971 was over 650.000 and under 700.000.

The birth rate in 1931 is lower than 1981.

The birth rate in 2011 was over 450.000 and under 500.000.
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2. Read the information. Then, drag and drop the missing words.
Natural growth | Emigration birth rate

death rate Immigration|

. TheE is the number of babies

that are born per thousand people.

* The E is the number of people

that died per thousand people.

. mis the difference between the number of births
and the number of deaths.

-Doccurs when people leave their country for another place.

'I Ioccurs when people come to a new country to live,

This information helps the government plan for the future.

3. Read the information about these people and match.

I am $ara. | am from Teruel.
1 am arriving at Utebo
because | found a new job
as a teacher.

®

1 am Patri. | am from
Utebo. | am going to leave
my village to find a new job
as a doctor.

She is emigrant because she is She is immigrant because she
leaving her birthplace to live in come to live to a new place.
another new place.
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